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Detailed marking notes 
 
Model Solutions & Marking Notes 
Note:  The model solutions for each question are not intended to be exhaustive – there may be 
other correct solutions.  Any Examiner unsure of the validity of the approach adopted by a 
particular candidate to a particular question should contact his / her Advising Examiner 
 
 

Q1 Model Solution – 25 Marks Marking Notes 

(a)  
4
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=
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78125

 

   or   
= 0∙0032768 

 

Scale 10C (0, 4, 5, 10) 

Low Partial Credit: 
• ସ

ହ
 

• (ଵ
ହ
)ଷ 

 
High Partial Credit: 
• ସ

ହ
× ଵ

ହ
× ସ

ହ
× ଵ

ହ
× ସ

ହ
× ଵ

ହ
× ସ

ହ
 in any order 

 
(b)        	

ቀ63ቁ ൬
1
5൰

ଷ

൬
4
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ଷ

൬
1
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= 		
1280
78125

ܚܗ	
256
15625

 

                          or  0∙016384 

 
Scale  5D (0, 2, 3, 4, 5) 
Low Partial Credit: 

• ቀ63ቁ orቀଵ
ହ
ቁ
ଷ
 or ቀସ

ହ
ቁ
ଷ
 

• ଵ
ହ	

 for last day 
 

Mid Partial Credit: 

• ቀ63ቁ ቀ
ଵ
ହ
ቁ
ଷ
ቀସ
ହ
ቁ
ଷ
 and stops or continues 

• ቀ74ቁ ቀ
ଵ
ହ
ቁ
ସ
ቀସ
ହ
ቁ
ଷ
and continues 

 
High Partial Credit: 

• ቀ63ቁ ቀ
ଵ
ହ
ቁ
ଷ
ቀସ
ହ
ቁ
ଷ
ቀଵ
ହ
ቁ 
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(c)  

1 − ൬
4
5൰

௡

 

 
Scale  5B (0, 3, 5) 
Partial Credit: 

• 1 or ቀସ
ହ
ቁ
௡

 
• any correct term from the expansion 

 
(d)  

1 − ൬
4
5൰

௡

> 0∙99 

൬
4
5൰

௡

< 0∙01 

     ቀସ
ହ
ቁ
ଶ଴∙଺ଷ଻଻

≈ 0∙01000000517 

 

݊ = 21 

 
Scale  5C (0, 2, 4, 5) 
Low Partial Credit: 
• Ans (c) > 0·99 

 
High Partial Credit: 
• viable solution to inequality 
• n = 20∙6377 and stops 

 
 

 
  


